O000(@O0000000000)00000 oooo o0 o0O0(@OoO0D 0o00)
No.O (DODODOOOOOODDO)OO

00000000000000000000000000000000000000000000000000000
D000 deg, 000000000 000000000 Brouwer D000 deg(f) O ¢ p-1(y,) Sig0(fu)zo € Z 00

000000000000 00000000000000 (00000000000 /O0 ete) D0DD0OODOOOOO

000000000000 0000000000000000000(00O000)00000000000D000
ocooooooooooooooooooonO0O000 SO0 S*O00000O0C0OCOOOOOOCCOCOOOCOOO
goooooooOoOOO0OO0ODOOOODOO0O00OOODOOODODDOO

O0Brouwer 000000 S' - S' 0000 y000000000000000000D0DD0D0DO0O0O0OOOOOO

ooooooooODOODDO

O0Brouwer 00 0000000000000 (fu)gy : TooM — Ty N DOOO0O000OO sign(fs)z, =+10
ooooooOOOO0OO000O0 sgn: 0O0O0O0O0O0O0O0O0O0O0O00O000O

000000000000 00oooo0oooooooo0o0OoO0oOooOOODO00000O0e = {1,2,...,n} —
{1,2,...,n} D0DDOO0O00000O0000000 wug,uz, ..., Uy — Ug(1), Ue(2)s -+ Uony 00000000000
ooooooOO0O0O0O0O0O00O0000D0D00O00000D0DODOD0OOOSsign 0 sgn 0000 Osignature0 00000

O00(fv)e, 0000000000000 00OOD sign(fe)s, 0000000 deg(f;y)=00000000000
O000Odeg(f;90)=0000000000000000

O000000Odeg(f;90)=00000000y 0000000000f00000000DO0OO0OOODOOOO
oooooooooOOODODODOOOO

goooooooOoOoOOODOOOOOOOOOOOOOOO

ooooooooo0oOo

0000000000000 deg(f)000O0D70007000000000000000000O00000OOOO

000o00oo0ooo000o0oo0o0o00 (0000000000000 000000000O00O00O00000
ooooo0O0OOOO0000000000000000oOooooOOOOO0ODODODOOOOO00000000000O
000o0000o00o0o0oo0o0o0o00oU0oo0o0o000U0O00O00O0L) 0000000000000 0OO
00000000000o00o0o00o0o000 (O)ODo0oUo0Dooo0DoDO0OUOO0DoDOoUOoO0O(oooooo
0000)00000000000000000O000000000DO00000D00000(@OODO00O0D0OO
00)000000000000o0o0oo

O0000000000000 deg(f) =deg(g) DO0DDODODDOODOO deg(f) 0 fO0D0O0O0OO0DOOODOODO
deg(f) =deg(g) DUODODO OO

O0f0 ¢gO000000000D0DO0O deg(f)=deg(g) 00 0DOD0DOD0O0DOO0DO0O0ODOUOODOOOOOOOOOO
0000000000000 00000000000000000000000U00D0D0O0O0U00D0D0D deg(f) O
fO00000D0000000Odeg(f)=deg(¢)D00D0O00O00OO0OO0D0ODOOO0OODO0OOOOOOODOOOOODO
oooooooooooo

OOdeg(f) Brouwer 0000 ): D0D0OOO0O00 =deg,(f): 000D 00U0O0O0O0ODOOOOOOODOO

O00000000000000Brouwer 000000000000 (DOO0ODO0O0O0OO0OO)Odeg(f)mod.2=
deg,(f) 00 0OOdeg(f) DD DOUOODO degy(f) 00 0D0DD0OD0OOUODODDOUOOOOOOOOUOUDUD
000000000000 0000000000000000000000000000000)0degy(f) 000
0000000000000 (deg(f) 0000ODO)O

O0arcO000O000O0O0OCOOOO0OO0OOCOOOOOOOOOOOOOOOOOac0OOOOOOOOOOOODOO

000 (0)0OooOooooUoooo0oo0oo0o0oo0o0oUoOU0oD0OD0ooO0oooDooooooooo [o,1]
000000000000000000000000000000000000000S' 000000000 circle (O
0)00000000000000000000O000000O0000D0DO00000O0O000O00DO0O0O0O0O
00000000000 (@MUOD00000 circled are 0000000000000 DO arcwise connectedd 000 O
OO0 arc00[0,1]0000000000O0OOOOOOO)O

O0F Yy) OO arc ADODD 0A={a}U{b} 000 a,b 0000, sign(fi)a +sign(fs),=00000000
goooooooOoOoOOOOOOOOOOOOOO

000000000000 A(D0D0DD0O0O0)0000D00D0O0DUAD z€ ADDUOOUOOO vOOOOOOOOO
00X 00000 v,ve,...,vp1 00000 (F)z(va),...,(Fy)a(ves1) 0 T,, N OOODOO0OOOO0OO0OOOO
oo@OooOoooooO0ooooOoooooo0oUooo0o0o0o0o0oooO0Oo0oO0oO0Oo0O0OO0oO0ODOO
0000)ooUooAOODOOOOUOOOUOOD (DO0D0O0OUDOO0)0D0O0O0 v(e)OOODODDODDODOOOOODO
00 (D000 »)00000000000000 (0000000000 DOO0O0OOOUDOODOOO(DOODO)O
00000000 bb000(fu)y: 10X - T, NOODODOODOOOODOOOOOsign(fy)y,=—10000000000
a 00 sign(f,),=1000000000000sign(fy)e +sign(f.),=0000

0000 arc ADDDOO 0A={a}u{b}00 ,b0 ADODDDODOOODODOOF Y(y) 0OOO0O0ODODOD0OO0O0OO
00000 O000000000000000 FYy)0 MOODOOODO acc00000 +10 -1000000
000 deg(f,yo)=00000000000O0O0O

ooooooooODOODDO

O0arc000000000D00000 aresin (Sin™!), arccos (Cos™) 0 arce 00000000000 OODOOODO

00000000000000000000000000000000000aresin0000sin000000O (OO
0000000 arclength) 0000000000000 O0O00D0000O00O00OOO0OO0DOOOO0ODOOOO

goooooooOoOoOOOOOOOOO

0000000000 (eylinder) 0000000000000 O0OD0OOOO0O0OODODOOOOOOOODOOOOOO
0000000000000 0000o00000000000000 ¢ (000000000000 O0O0UO0OD
0000000)0000000000 nO0000 TOOOOOODOODOOODOOOOO0OOO0OTODO0O0OO0ODOO



000000000000000000000L000 w,uw,00000000000000v,u;,uz 0 R3000
00 (00000000D000)000000000000000000 TO000000000000000 000
O00000000000000000000000000000000000000D0 o 0000000 LOOO0
00000000 (000000000)0000000000L000000000000000000000000
000000L0O00 wODODDODODOODOOOOn,wD 7T0000000000n,n,wOd R3000000
00000000000000000 LO0ODD0000000000

00000000([0,1] x M) ={0}x MU{1} x M ODO000O0D0([0,1] x M) =9[0,1] x MU[0,1] x OM O
OM=000000000000

0000000000000 00000000000OM #0000008([0,1]xM)0000000000000
00000000 (@MO0O000000000)0

00000000 h:N—-NDOidy 0ODODO0OODOO0O000000deg(h) =deg(idy) 00000000000 BO
O0deg(h) =deg(idy) 0000000000

O0000000Odeg(h) =deg(idy) =1 0000000000 BOOOODODOOOODOOOODO0OOOMmMOO B
O00deg(h) =deg(idy) 00000000 DOO0ODOOOO

O0Th A, BOOODOOODO deg(ho f;2,) =deg(f;20) 00 0000000000000000000O0OAofO
f0000D0000000D0000D0000000

O000000AD dODOOODDOO H(y,t) DO0O00H: Nx[0,1]] - NOOODODOOAH(f(z),t) 0000
Ho(fxid): Mx[0,1] =NO hofO fO00000D0D0O00DO0

O00rROdy000000000000D0000000000D00D00O0O00O0O00O000000000OO000
O0D000000000ONDOOODDOOODOO N (DOODODOODO NOOD)ODDODOOOOAR:N —N' OO
0O A00000000000000D0D000D000000

0000000000000000000000000000000000000000000000000000
000000000000 000000000000000000000000000000000000

O0000000000000000000000000000000000000000000

000000000000 000000000D0000000000000000000000000000000
000000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000
000000000000 D00000

0000000000 mO0000D0000D0000000D0000D00000000000000000000
00000000000000000000000000000

00000000000000000 mO00000000000000000 »000 000000000000
000000000000000000000000000000000000000000000

0000000 f:M—-NOOMDO compact 0000000000000 00O0MODOO0OO NODOODOO
00000000000 f00000000000M O compact DOO0ON OO compact 0000000000000

O0f00000000000D0000000000000M = {(z,y) € R? |22 4+4%> =1}, N = {(z,y) € R? |
(r—22%2+y2=1}U{(z,y) eR?|y=2}0000000000O000000)0f: M —NO f(z,y) = (z+2,y)
000000f00000000MO00O0000ONDOOOOOOOOOOOODOOODODOOODO0OO0OO00
f(M)DO0O0DDO0O00DO00DO00O0O0O00D0O00000

O0OM,NODDOOOOMOOODOOODOO0OODO0OMOOOODO000D000O0 MOOOODODOOOOO
O00000000000000D0000000000000

0000000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000(@0O000
0MO0000000000000000000000000000)0

00000000000 000000000

00000000000 nO00000D0000 (00D00)2-100000000000000000000000
000000

000000000000000000000000000000000000000000000000

000000000000 0000000000000000000000000000000000000000
00000000000000000000000000(@0D0000000000000000000000000
oooooo)o

000000000000 0000000000000000

000000000000000000

00000000000000000000

O000000000000000000000000000000000000000000000000 -y O
000000 22+4?=t00000000000000000000000000000O000

O0Odeg(f,y),(yeU) 000 =3cU0 FOOOODOOODOO

0000000000000 00000D0000O0Ddeg(f,y),(yeU)00000000003eU 0 FODOO
Omoo0000000

0 0 Manifold 000000000000 Variety 0000000000000 0000Manifold 00000000
000000000000 D000D000000

0 O manifold O variety 0 0000000 variété 0000000000000000000000OO0O

0000000000000000000000000000000000000000000

00000000000000000000Honda 00000000000000000000000DOO0DO0
000000000000000000000000000000000000000000000000000000
ooooDoo0oooo



